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Graders – these exams must be graded by Friday with grades recorded for transmittal to me late Friday night.  The grade file must include the final quiz bonus.  In grading, score the substance of the students’ answers as it reflects proper economic analysis and not whether they say True of False or interpret the question exactly as reflected in my answer.
1. A price searcher’s supply curve is given by its marginal cost above average cost.
False.  This does describe a price taker’s supply curve; that is, a curve that tells you the desired supply for any particular price.  However, a price searcher has no “supply curve” since the price and quantity are simultaneously determined (that is, there is no “curve” that will tell you the desired supply for any price).  

2. Nurses with the same years of experience make the same average income as welders.  However, nurses have about four more years education.  Over 85% of nurses are female, while over 85% of welders are male.  These facts indicate discrimination on the basis of gender.
Uncertain.  These jobs are very different.  Nursing involves interacting with and caring for people; welders interact with metal.  Welding involves risks of eye injuries and burns; nursing includes risks of mental fatigue and burnout.  Since we have no way to determine the relative market “value” of the different characteristics of these two jobs, we can not know if the lower equilibrium nursing wages (holding education constant) are the consequence of a relatively greater supply (compared to demand) of people (most of whom are female) finding nursing a preferred occupation compared to welding.
3. The apartment dweller next to you plays loud music.  You enjoy his music.  Therefore, there is no economic externality.
False.  Because you like the music there is a positive externality.  Your neighbor does not take into account your preferences in deciding how frequently and how loud to play his music.   He, therefore, will “underproduce” his music playing.
4. The average level of profit is expected to be greater in price searcher industries than in price taker industries.
False.  There is generally free entry into price searcher industries (which include nearly all industries selling directly to consumers).  With free entry, entrepreneurs will enter if positive profits are expected independently of whether the price is given (price taker) or the price is chosen.  The average level of profit in an industry will be determined by such things as the distribution of skills and talents of the entrepreneurs, unexpected changes in demand, and the time its takes to enter or leave the industry.

5. The Coase Theorem explains why public goods are expected to be over produced. 
False.  The Coase Theorem (see text) states that with no costs of bargaining, external impacts will be internalized (through bargaining) such that 1.  the efficient outcome is expected; and, 2.  the initial allocation of the property rights (e.g., whether smokers have the right to smoke indoors, or non-smokers have the right to a smoke free office)  will not impact the outcome.

6. Even though pollution is bad, pollution is desirable.
True.  Pollution (e.g., carbon monoxide from auto exhaust, arsenic emissions from factories; trash on the roadside) is bad in that we wish it did not exist.  In that regard, it is just like scarcity.  However, we certainly would not be better off with no pollution given the cost of eliminating it (e.g., we could eliminate the carbon monoxide from cars by banning the use of the internal combustion engine, but the loss in surplus from such a ban would likely far exceed the benefits of less polluted air.) 
7. Johnny is one of 1000 high rise window washers.  When he took the job he was aware that about one worker falls and dies each year.  He took the job anyway because it paid an extra 50 cents per hour.
a. A safety strap system would cost $1500 per worker per year and it would prevent any falls.  It is efficient to require installation of the safety system.
False (or uncertain).  It would cost $1.5 million per saved life.  This is likely more than the window washers would be willing to pay for the reduction in the relatively small risk of falling.  If the estimate we discussed in class of the revealed value of safety reduction is applicable, the workers collectively would pay only $1 million for the increased safety.  (Note that Johnny accepts about $1000 to incur the increased risk = 40 hours per week times 50 weeks times 50¢ per hour.) 
b. Absent the safety strap, Johnny slips but is caught by a bolt.  To retrieve him would require stopping traffic for two hours.  This would cause 500,000 commuters two hours delay.  It is therefore inefficient to rescue Johnny.
Uncertain.  The cost to the commuters is about $6 million (using the $6 per hour cost of commuting time from the congestion question in the notes – though use of an any reasonable figure doesn’t affect the analysis.)  Secondly, we can not use the $1 million estimate of the revealed value of reducing risk levels such that there will be one less window washer death since this figure is derived from reductions in very small levels of risk summed over lots of events (the value of a statistical life.)   Here, we are dealing with here with the value of reducing the risk to Johnny from 1 to 0.  We don’t know what the value of that risk reduction (the value of a certain life) is worth to Johnny, his family or others that may care.
8. If the government reduces missile production when the Iraq war ends, there will be less impact on unemployment if the revenue made available is redirected to environmental issues than to reductions in taxes on air travel.
False.  With reductions in missile production, unemployment will result as the labor resources no longer used in missile production seek out the next best opportunity (note that the unemployed workers could likely get a job the same day at McDonalds [or mowing my lawn with scissors.])  To the extent that new opportunities are available because of a redirection of the government spending that utilize the same skills used in missile production, the adjustments necessary to have re-employment will be more rapid.  The skills in environmental cleanup (or other related efforts) are likely very different than in making missiles.  However, reducing the tax on air travel will lower the price and therefore increase the demand for air travel.  This will likely increase the demand for airplanes and for airplane workers.  Since airplane workers are expected to have skills comparable to those of missile workers, lowering the tax on air travel should lead to a more rapid re-employment of the laid off missile workers.

9. The earnings of farm workers and lawyers are both likely to show cyclical patterns but for different reasons and of different cycle lengths.
True.  Farmer workers will have seasonal demands for their services and hence seasonal cycles in the equilibrium wage rates.   Lawyer will likely have some cyclical pattern to their earnings because of the long training pipeline and the tendency of people selecting their careers to focus on current wage rates (when wages are high many will be attracted to law school, and when they graduate, supply will increase and lawyers wages fall – lowering the demand for training, etc.)  This wage cycle will therefore be 3-5 years  in length (equal to the length of time between selection of the occupation and entry into the market).
10. Congestion on the Evergreen Point Bridge could be solved by building a second four lane bridge.
True and false depending on whether we address the short or long run.  Of course, immediately after the second bridge was built, there will be a reduction (or elimination) of congestion.  However, in response to the reduced commuting cost of living in Seattle and working in the Eastside, and vice versa, more commuting will be encouraged.  Given the very large population and housing opportunities on both sides of the bridge, the new long run equilibrium should be one with about the same costs of commuting (and the same level of congestion.)

11. Price discrimination will result in buyers with more elastic demands paying lower prices.
True.  Price discrimination means charging different buyers different prices.  More (less) elastic buyers are those that respond more (less) to a price change.  Therefore, increasing sales by lowering the price to the a more elastic buyer will result in greater additional  revenue than the reduction in revenue to the less elastic buyer.  This will increase profit.

12. Increasing returns is inconsistent with increasing marginal costs.
True.  Increasing returns means that equal increments in resources going to a production process will increase the output (marginal product) by more, the greater the total amount of resources already applied to the process.   The marginal cost will be equal to the cost of the incremental resources divided by the increment in output (e.g., if the resource increment cost $2 and the additional output is 2, the marginal cost will be $1).  Therefore, the higher is the marginal product from a given increment (and cost) of resources, the lower will be the marginal cost.  Hence, with increasing returns, the marginal product will be increasing and the marginal cost decreasing.

13. A union will desire to set the highest wage possible.
False.  The highest wage possible is the wage that would result in a single worker remaining employed (or even one at which no worker is employed.  While this would benefit that employed worker, all other union workers will be worse off than at lower wages.  This certainly will not benefit the “union,” and hence it is not expected.
14. A monopolist will maximize the available revenue.
False (for all cases of positive marginal cost.)   The available revenue is maximized at the point where marginal revenue equals zero.  Therefore, at the output level that maximizes the revenue, the revenue from the last unit sold will be close to or equal to zero.  Since the marginal cost is expected to be possible, this implies negative profit from that unit such that the profit will be lower than if sales are limited to the point where marginal revenue is just equal to or greater than marginal cost.

15. Collusion is more likely to be successful if entry is difficult.
True.  Collusion is an agreement or understanding among competitors to limit competition in order to increase price above the competitive level.  This is done to increase profit.  One problem with collusion is that the high price and profit makes entry look attractive to outsiders.  As outsiders enter, the supply will increase and the price will fall.  Hence with easy entry, the success of the collusion will be eroded.

16. Sam currently receives a wage of $25 per hour and he works 40 hours per week.  If his wage goes up to $35 per hour he may elect to work less than 35 hours.
True.  Leisure is a normal good (increase income,  increase the desired consumption of leisure.)  If Sam gets richer, he may want to use some of his higher income to consume more leisure (which means working less.)  At the original wage, Sam was earning $1000 per week.  At the new wage and the old work hours of 40 hours per week, Sam would have increased income of $1400 per week.  He may therefore cut back his consumption of leisure.  We now need to check that 35 hours is reasonable (that is, that his income at 35 hours exceeds his old wage-hour income, for otherwise there is no remaining income effect leading to reduced work hours).  At $35 and 35 hours, Sam would earn $1225.  Hence, working only 35 hours would be consistent with economic principles.  Note it would not make economic sense for Sam to work 28 or less hours at the new wage.  
17. Cartels are socially wasteful because they yield large profits to the cartel members.
False.  Waste results from situations in which goods with value to consumers (MV) greater (less) than the costs (MC) are not (are) produced.  This is the case with cartels because the cartel raises the price above MC and consumers stop purchasing at the point where MV equals price.  Therefore, with cartels, goods with MV greater than MC are not produced.  Profits may result from the high cartel price but profits themselves are not socially wasteful (they are transfers from one set of people to another.) 

18. Since there are many convenience stores in Seattle, these stores are likely price takers.
False.   Price takers arise in situations where there are many sellers, selling the same goods, to well informed buyers.  While there are many convenience stores in Seattle, that fact is not of relevance to consumers.  Only convenience stores that are conveniently located are relevant alternatives and there are only a few for any particular consumer.  In addition, the customers of convenience stores have very incomplete information as to prices at alternative convenience stores.  Both of these facts lead to convenience stores being price takers (as exhibited by the fact that a small increase in price will not lead to loss of all business.)
